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Remember an exponential function is a function in the form:
f(x) = ax 
y







 y
a>1


(0,1)




a<1

  (0,1)
 
x
The ________ of an exponential function (domain becomes the ________ and vice versa) is called a logarithmic function and is expressed as:


f -1(x) = log a x or x = ay
y

y=2x
(0,1)
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  (1,0)
y=log 2 x

y=x
Graphing:
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Graphing:


y = log 2 x or x = 2y
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Things to know about Logarithms

  
Given:
log a x = y     for  a > 1


Domain
= {x > 0  x ε R}

Range    = {y ε R}


lim log a x = -  and
lim log a x =  

x0+ 




x
log a a = 1 & log a 1 = 0 & log 10 x = log  x
Changing Exponents to Logs and vice versa.

x = 2y
log 2 x = y
Thus, the definition of the logarithmic function as the ______________ of the ___________function  y = ax , means: 


log a x = y    iff    x = ay 
Evaluate:
a)
log 5 125


b)
log 3 81

c)
log 4 ½
Graph:
y = -2log 3 (x + 3) + 1

